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Seat No.: ________                                                      Enrolment No.______________
  

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER – IV • EXAMINATION – WINTER 2012 

 
Subject code: 342901 Date:  26/12/2012 
Subject Name: Yarn Manufacturing Technology - II 
Time: 02.30 pm - 05.00 pm Total Marks: 70 
Instructions: 

1. Attempt any five questions.  
2. Figures to the right indicate full marks. 
3. English version is considered to be Authentic. 

 
Q.1 (a) 

 
Explain combing cycle with neat sketch. 07 

 
 (b) Draw a neat sketch showing passage of Rove /yarn in Ring frame  

m/c. and explain the functions of each part in the passage. 
07 

    
Q.2 (a) Explain with neat sketch the Lap preparation for comber on Super 

lap former m/c. 
07 

 (b) Explain with sketch, nipping motion on comber m/c. 07 
  OR  
 (b) Explain any three significant developments in comber m/c. 07 
    

Q.3 (a) Explain twisting and winding operations in Can fed inter m/c. 07 
 (b) Explain in brief any three  design change in modern speed frame 

m/c. 
07 

  OR  
Q.3 (a) Expalin about any one differential motion for speed frame m/c. 07 

 (b) Explain any modern drafting system for Ring frame m/c. 07 
    

Q.4 (a) Explain working of Novacotania m/c. for waste spinning. 07 
 (b) Explain in brief about different types of spindles for ring frame m/c. 07 
  OR  

Q. 4 (a) Explain working of Roller and Clearer card for waste spinning. 07 
 (b) Explain Wet doubling system . 07 
    

Q.5 (a) Explain about manufacturing of Slub yarn. 06 
 (b) Calculate production in kilograms per shift of 8 hours of a comber 

m/c. from the following details. 
1) Nips/min.: 300     2) Lap Feed per nip : 6mm   3) Weight of 

lap: 78 grams / meter    4) Noil : 15%  5) No. of heads : 8         
6) Efficiency :  88% 

08 

   OR  
Q.5 (a) Calculate production of a Doubling m/c. in kilograms per shift of 8 

hours from the following details 
1) Spindle speed : 9600 RPM  2) Twist per inch : 22     3) count of 

yarn : 2/40 Ne     4) No. of spindles : 400     5) Efficiency : 78% 

08 

 (b) Calculate Draft of Ring frame m/c. and TPI of yarn from following . 
1) Hk. Of Roving: 0.92     2) Count of yarn : 16    3)  T.M. : 4.5 

                                  
************ 
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̆.:1 અ) કોƠબર મશીન મા ં‘કોƠબӄગ સાઇકલ ’ આĴિત દોર� સમĤવો.             (7) 

     બ) રӄગ ̇મ  મશીનમા ંરોવ° / Ʌતર નો માગ½ ƨવƍછ આĴિત દોર� સમĤવોૂ .   

         અન દર°ક ભાગ ના ંકાય½ સમĤવો                                           ે (7)   

̆.2 અ) ƨવƍછ આĴિત દોર� Ʌપર લપ ફોમ½ર મશીન મા ંથȱ  લપ િ̆પર°શન     ુ ુે ે ે (7)   

        સમĤવો. 

      બ) કોƠબર મશીન મા ંિનિપ�ગ મોશન આĴતી દોર� સમĤવો.                (7) 

                                      અથવા 

 બ) કોƠબર મશીન મા ંથયલા ે કોઇ પણ ́ણ િસƊની�ફકંટ ડ°વલપમͫસ સમĤવોҪ . (7)              

                                               

 ̆.3 અ) ‘ક°ન ફડ Ӗ◌ંટર° ’ મશીનમા ંͫવીƨટӄગ અન વાӖડӄગ િવશ ે ે  િવગતવાર     (7)  

        સમĤવો..  

    બ ) ક°ન ફડ Ӗ◌ંટર મશીનમા ંથયલા કોઇ પણ ́ણ આȴિનક  ડ°વલપમͫસ ° ે ુ Ҫ (7)  

            િવષ Ȭંકમા ંસમĤવોે ુ . 

                                             અથવા  

̆.3 અ) ક°ન ફડ Ӗ◌ંટર મશીનમા ં�ડફરҰશીઅલ મોશન ની કાય½ પƚધતી આĴતી    ° (7)   

   સાથ સમĤવોે ..  

 બ)   ƨવƍછ આĴતી સાથ ે ‘રӄગ ̇મ મશીન° ’મા ંમોડન½ ˾ાƝટӄગ િસƨટમ’સમĤવો (7) 

̆.4 અ) નોવાકોટિનઆ વƨટ �ƨપિન�ગ મશીન િવષ આĴતી દોર� સમĤવોે ે .        (7) 

     બ) �ર�ગ̇મ મશીન ના ંƨપӄડલ ના ȩદા ȩદા ̆કાર િવષ Ȭંક મા ંસમĤવો° ુ ુ ે ુ .  (7) 

                                           અથવા 

̆.4 અ) વƨટ �ƨપિન�ગ મા ંવપરાતા રોલર Ӝડ �ƈલઅરર કાડ½ ȵ ંવક¡ગ આĴિત  ે ુ (7) 

   સાથ  સમĤવોે . 

    બ) Ʌતર ના ંડબલӄગ માટ° ની વટ ડબલӄગ પƚધિત િવષ સમĤવોુ ે ે .         (7) ̆.5 અ) ƨલબ યાન½ ની 

બનાવટ આĴતી સાથ ે Ȭક મા ંુ સમĤવો.                 (6) 

    બ) એક હાઇ ƨપીડ કોƠબર ની િનચની િવગત ઉપરથી ે 8 કલાક ની પાળ� ȵ ુ 
  
                                              (2)ઉƗપાદન �કલો˴ામ મા ંશોધો.                                                   

(8)  

 1) િનƜસ/િમિનટ: 300    2) ફ�ડ પર િનપ: 6 િમ.િમ.   3)�ફડ થતા લપ ȵ ંવજને ુ :  

  78 ˴ામ/િમટર.     4) નોઇલ : 15%   5) હ°ડ ની સƉંયા : 8   

    6) એ�ફિસӔસી : 88%      

                                      અથવા 

 ̆.5 અ) નીચની મા�હિત ઉપરથી ે એક �ર�ગ ડબલӄગ મશીન ȵ ુ8 કલાક ની પાળ� (8) 

    ȵ ું ઉƗપાદન �કલો˴ામમા ં  શોધો.                                                           

1) �ƨપ�ડલ ƨપીડ : 9600 આર.પી.એમ.  2) ટ�. પી.આઇ.: 22     3) Ʌતર નો કાӘટ ુ : 2/40 (ӖƊલીશ)     4)  

�ƨપ�ડલ ની સƉંયા: 400                    (8) 

  5) એ�ફિસӔસી : 78% 

બ) નીચની િવગત ઉપરથી �ર�ગ ̇મ મશીન નો ˾ાƝટ અન Ʌતર ના  ે ે° ુ       (6) 

  ટ�.પી.આઇ.ની ગણતર� કરો:  

(1) રોવӄગ નો ӕક : 0.92    (2) તયાર થૈ તા Ʌતર નો ӕક ુ : 16 

(3)  ͫવીƨટ મ�ƣટƜલાયાર(T.M.):   4.5                                               
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